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SECTION - 1 : General Awareness IGT - 1 : AGIS WRWISH (WH ARSI

Q1 Konark Sun temple is situated in Ql =99 AT Heg &g Afgs I

= - (A)  HOyeH

(A) Madhya Pradesh (B) IHAES

(B) Rajasthan
: (C) WIETS YH
(C)  Arunachal Pradesh

(D)  Odisha S
Q2  Pattachitra art form is native to Q2 yefd3g ag T & Jof ffamt fed
which of the following states? fagz I 37
(A) Odisha (A) &
(B) Assam (B) WA
(C)  Uttar Pradesh (C) G353 yEw
(D)  Andhra Pradesh (D)  wuT yEH
Q3 * Sand dunes are found in which part Q3 Umg 2 fan fIn <Ko I3 € &8 ug
of Punjab? e 67
(A)  South East (A) THEYI"
(B) North West ‘ (B) §3IueH
. (C) North East (C) §33ysH

(D)  South West (D) TdT UsH

Q4  World’s largest solar tree has been Q4 TS T AZ 3 3 HSI T (solar

installed in which state of India? tree) 393 © far g &g AU Si3T
(A) Uttarakhand 37
‘ (A)  €33M3
(B) Assam
(B) WHH
C) WestB ] tet &
(©) est Benga ©)
(D) Rajasthan / (D) THAES

M
PAPER-4 SERIES-DA [3]



Q5 A Joint Military Exercise named
“Yudh Abhyas 2021 was held

between India and
(A)- Russia
(B)  Israel
(C) Australia
(D) USA
Q6 - Punjab means a land of
(A) 10rivers
(B)  6rivers
(C)  Srivers

(D)  8rivers
Q7  Which two crops are the maximum

cultivated crops in Punjab?
(A)  Wheat-Rice
. (B) Bazra-Maize
(C) Rice-Maize
(D) Rice-Bazra

Q8 Who along with Batukeshwar Dutt

threw bomb in central assembly?
(A) Rajguru

(B) Bhagat Singh

(C) - Sukhdev

(D) Lala Rajpat Rai

Q5

Q6

Q7

Q8

gz w3 fegag ffa Ay
Ao WA g wifgwH 20217
W3 3T famrm A

(A) gH

(B) fomgfes

(C) MHSIBMT

(D) gwAe

Urgerwag SISt dl
(A) 10 Sfonrer

(B) 6 Tfgnret

(c) 5 <fow=r

(D) 8 Efgwret

U f&g fagdt @ ergt & A9 3
<g 93t St A I7

(A) TEI-RST

(B) IHI-Hall
(C) V& -Halt
(D) S&-"FHI

Aegs wigE &g gcdnsegd ©3 ©

&% fans g dfewr?
(A) I

(B) I3 HW

(C) mueR
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Q9  Which Sikh Guru introduced Anand Q9 fom fify g & Wde agd Hg di3- - |

Karaj - which was a special kind of fa f& fefm Yara <t fewrg S IAH Al?
marriage ceremony? (A)  FHIIniIre A

(A)  Guru Angad (B) H I WHITH A

(B) Guru Amar Das = () g Ifadfde

(C)  Guru Hargobind = (D) Fff dad aﬁf&fﬂﬁ it

(D)  Guru Har Krishan

Q10 The most essential operation for Q10 O0A® T AII3 wWorAd HST & 3t

making the soil loose and porous to Fud 3 &8 W3 yAHES g8
a desired depth as per requirement Eﬁﬂggt{gsﬁ-{__ﬁl
ofthecropis . (A) 38 fHOE" (Clod crushing)
(A) Clod crushing (B) I&TY&QE (Ploughing)
(B)  Ploughing (C) 3= 0T&" (Harrowing)
(C) Harrowing (D) gF we @@ (Manure
(D) Manure mixing miang)

Q1 1‘ is the birthplace of Q11  fAyf o ufggrs 7 gt Ufgos,

| Khalsa, a way of identifying or Wéﬂ?ﬂ{gﬁﬁl

differentiating the Sikhs. (A) I H o iy
(A) Takht Sri Damdama Sahib 8)  ofsgarg woE

(B) Fatehgarh Sahib
. (C)  Dukh Nivaran Sahib
(D) Takht Keshgarh Sahib
Q12 Which festival of Punjab is Q12 uUFg T fqo7r 369 A Szt &

(C) THfoegs Arfag
(D) 33 A AfI"

celebrated with a special bonfire? W1 I8 F HoTEmT 7T 37
(A) Lok | (A) B
¢ (B) Teeyan (B) I
(C) Chappar Mela (C) BUIT AT
(D)  Guruparab (D) JI9Ys=E

#

PAPER-4 SERIES-DA [5]




Q13 Which of the following disease is Q13 fog' &F fogdt fanudl €8l € a9%

caused by fungi?

(A)
(B)-
(&)
(D)

Q14 In Laws of reflection of light, the Q14

Ring Worm
Cholera
Tuberculosis

Covid-19

angle of incidence is equal

(A)
(B)
(©)
(D)

Q15 Waste that decays naturally and ina Q15

way that is not harmful to the

to the angle of incident ray
to the angle of plane
to the angle of reflection

to the angle of refraction

environment is called

(A)
(B)
(©)

(D)
Q16 Who

green waste
recycled waste
blue waste

soil waste

found the

Anjuman-i-Punjab?

(A)
(B)
(©)
(D)

L3

Dr Gottlieb Wilhelm Leitner
Raja Harbans Singh

Rai Mul Singh

Gurmukh Singh

PAPER-4 SERIES-DA

literary |, club, Q16

gt 37

(A) TT

(B) I

(c) 3ufed

(D) dfe3-19

YgH T Udedss T femdt &S,
wyslds 2 adEg e Jl
(A) Ut fags e e

(B) 3IBTAT

(C) uUI=I3cede

(D) WUSIIS T AT

gg sffeyoe ¥ Feadt 39 ‘3

fewfes gt 3 w2 for 399 58 69
forg o faar Aer J?

(A)  Jfe=He

(B) JiAfeasz IHC

(c) =f8gIAc

(D) Afes T

AfI3 89 wigHs-2-Uas & AEsT
fams S3t?

(A) 3. Jiciee fesaH Bead

(B) I A Ty

(C) TeHs iy

(D) ISy fAy



Q17

QI8

Q19

Q20

Which Punjabi folk dance, similar to
the more eminent Bhangra, is

performed by women?

(A) Jhumar
(B) Gidda
(C) Jaago
(D) Luddi

Which  among the following
princely states is not a part of India
after partition in 19477

(A) Patiala

(B) Kapurthala

(C) Faridkot

(D) Bahawalpur

The Upper House i.e. Legislative
Council of Punjab was abolished on

Ist January

(A) 1947
(B) 1952
(C) 1961
(D) 1970

Where is the Annual three-day

Shaheedi Jor Mela held in Punjab?

(A) Gurudwara Hari Mandir
Sahib

(B)  Gurdwara Fatehgarh Sahib

(C)  Gurudwara Baba Atal Sahib

(D)  Gurudwara Sehra Sahib

Q17

Q18

Q19

Q20

wWg3t eI 3T 7 B fFaF
Urrslt 8 &9, §g3 HAJT FF °
S J7?

(A) BHI
(B) fomor
(c) Tt
(D) @It

Js o fod fagdt forAs 1947 &
33 3 gme 9793 T [JAT &dt I7

(A)  ufewsr
(B) SYIEZ"
(C) Odteae

(D) EJ<HYdI

1 A&t $ Gudt AT
3T famir Al

(A) 1947
(B) 1952
(C) 1961
(D) 1970
Ao g wifaz &3 Aer 97

(A)  JTewar JfoHeg Afag
(B) JIIewar 0f39erg Afoe
(C) JITWT I WS Afde

(D) JewTr fAger wrige
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Q21 Where is Partition Museum located (21

in Punjab?

(A) Ludhiana
(B) Patiala

(C) Chandigarh

(D)  Amritsar

Q22 Which Punjabi Singer sang the (22

popular song "Jai ho"?
(A)  Sukhwinder Singh
(B)  Arijit Singh

(C)  Gurdas Maan

(D)  Sardool Sikander

Q23 Which  scheme by  Punjab Q23

government will provide the jobless

individuals to get subsidy on

purchase of 3/4 wheeler vehicles for

self employment?

(A)  Ghar Ghar Rozgar Scheme

(B) Apni Gaddi Apna Rozgar
Scheme

(C) Punjab Chief  Minister
Scholarship Scheme

(D) Mera Kam Mera Abhiman

A Scheme

PAPER-4 SERIES-DA

AfE3 J7?

(A)  Bftmirer

(B) Ufenwgr

(c) d©INF

(D) YifiEAs

wAgs I3 A I § ft B fam
et rfed & grfawr?

(A)  puféed fiw

(B) fawis friy

(C) JSTHHS
(D) HIES freled

UAg Agad ©f faadl AdH Sgndrg
fonaImit & AL grdrd © &El 3 7 4
yIhrr Tt S Hdle J96 3 AT
féer J7

(A)  WI WI IFArT AH
(B)  wryst IiFt wruer 3Harg HellH

(c) Uy die fifsAea Aaaafy
HAH

(D) NIT IH NI WiSHS ASTH



Q24

Q25

Q26

Q27

country?
(A) Afghanistan
(B) China

(C) Pakistan
(D) Tajikistan

the population growth percentage of
Punjab?

(A) 13.89%

(B) 15.14%

(C) 19.76%

(D) 23.87%

Which of the following countries Q26

has the most Sikh population?
(A) Canada

(B) Malaysia

(C) Cyprus

(D)  Saudi Arabia

Who among the following certifies Q27

whether a bill is a money bill or not?

(A) The Speaker
- (B)

(C)  The Prime minister of India

The President of India

(D) The Vice-president of India

According to 2011 census, what is Q25

Punjab is bordered by which Q24 rrs € Fhir foar SH &5 Sart 37

(A)  WOIMSHA3S

(B) d©io

(C) UfIA3®

(D) IAfIA3S

S 2011 ©F HITHEHII © WEH'I,
Urrg & weret 0 ©F YSH33T Hal
J?

(A) 13.89%
(B) 15.1L4%
(C) 19.76%

(D) 23.87%

foest &5 fam 2n &9 iy wa<t A9 3
frrer 2

(A) &3

(B) HSHMT

(c) wAfeuUgIA

(D) HE<I wIH

J fa 3 s us f8 I A 5I1?

(A) mieg

(B) II3 T IJHSIUI!

(C) FI3 T YTS H3I
(D) II3 T QU-ITHSIUI
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Q28 The layer acts as an (28 yg3s g wifdy T8 @

invisible shield and protects us from IH Jaet I W3 AS HIA 3 0 I
harmful ultraviolet (UV) radiation TgE  ygRdret fagst  (Uv) 3
from the sun. goE<t JI
(A) nitrogen (A)  TEHS
(B) argon (B) WIdlS
(C) ozone (c) 639
(D) methane (D) HEs
Q29’ Under which of the following Q29 Js i&faw T 333t Afeus © fan
articles of the Constitution of India waeT 3fI3 AUIH e IAS J9Iad
does the Supreme court have the e Hfsa wiftargt § &g 596 8 i
power to issue a writ for the fde At 9% T wiftgg I?
( enforcement of fundamental rights (A) WEEE 13
of a citizen?
. (B) WgsT 14
(A) Article 13
(B) Article 14 (C) WgeT 21
(©) Article 21 ' (D) m?_?ge 32

. (D) Article 32
Q30 Which of the following articles of Q30 393t Afeus T Jo fEfanr &5 fagar

the Constitution of India directs waee I & IfH dTfest § difes
states to  ‘organize  village I35 W3 GIat & HASt B © fegen
panchayats and endow them with foer 72
« power’? (A)  waEe 32
(A) Article 32
(B) Article 36 (B) . wiEews
(C) Article 38 ' (C) MgoexT 38
(D) Article 40 (D) WBET 40

PAPER-4 SERIES-DA [10]



Q31

Q32

The Chairpersons of the Panchayat

at intermediate and district level are:

(A) directly elected by people

(B) elected by the panchayat
members

(C) elected by the legislative
assembly of the State |

(D) nominated by the Governor

A is

a court’s order

commanding an inferior court or

public authority to perforfn an

« official duty correctly.

Q33

(A)  Writ of Mandamus

(B)  Writ of Quo-Warranto

(C)  Writ of Habeas Corpus

(D)  Writ of Prohibition |

Which of the following fundamental

rights is NOT included in Article 19

of the Constitution of India?

(A) Right to freedom of speech
and expression

(B) Right to form associations or
unions

(C) Right to practice any
profession, occupation, trade
or business

(D) Right to freedom of thought,

belief and religion

PAPER-4 SERIES-DA
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Q31

Q32

Q33

Is

(C) IH feuos AT ngr ge He
Is

(D) THUS ©WIT FHAC I3 Ae
Is

AJl 391D &% witea3 36T 596 ©
wren féer J

(A) HIHA T fae

(B) faG-zde<fae

(c) I IIunA T fae

(D) HoII T fge

I35 Afers © MEeT 19 K9 1S

&9t I&?

(A) =BT W3 YEe™ & §3393T T
wigarg

(B) WAHEHS 7 gowe gTT8E ©
wifgdag

(c) far MR, &3, =ug A IIgg
EERSRCIS]

(D) fegg, femew w3 TId <t
W e Wigarg




Q34 Human heart has how 'many Q34 &4 fes &g s ys Je Ia?

chamber/s?
(A) 3
(A) 3
(B) 2
B) 2
(c) 1
<€ 1
D) 4 (D) &
Q35 The Chief Election Commissioner Q35 393 & HY g ofimsd &
of India can be removed from office NI HIRH Aare It uedt 3
only through the impeachmént by Jerfonr 7 AeeT I
- (A) HAE
(A) Parliament
(B) IHCIUIL
(B) President
(C)  Prime Minister () !
(D)  Supreme Court (D) BUSH AIe
SECTION -2 : Quantitative Aptitude and FG-2: HIIIHI W3 w3
Numerical Skills At 3Hd I&69
Q36 A student multiplied a number by Q36 fig fefenrgst & i Hftmr § 11/5
. 5/11 instead of 11/5. What is the g% 5/11 &% Je a3 i e
approximate percentage error in the T f¥T weHs3 YIH3 3t fHat
calculation made? J?
(A)  51% . (A} 51%
(B) L2%

. (B) 42%

(C) 79.3L47%
(C)  79.34%

(D) 71.5%
(D) 71.5%

PAPER-4 SERIES-DA [12]
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Q37

Q38

Q39

By selling a table at X 2600, a Q37

shopkeeper makes a profit of 30%.
At what price should he sell the

table so as to make a loss of 30%?

(A) %2000
(B) 21400
(C) 22100
(D) 21600

How much time will it take, for a
sum of T 1000 to give T 250 as

interest at 25% simple interest per

annum?

(A) 2years
(B) 3 years
(C) 1year

(D) 6 months

A and B can complete a work in 20
days, B and C can complete the
work in 10 days, and C and A can
do the same work in 12 days. Find
the time taken to complete the work,

if all three work together.
(A) 8days

(B) 6 days

(C) 30/7 days

(D) 60/7 days

PARER-4 SERIES-DA

Q38

Q39

ffs A7 & 2 2600 R9 =9 A, i
TIABET 30% T I IJHET J| 30%
< gl yge s 8Ag WA § oA
3 '3 T g Hi?

(A) %2000
(B) ¥ 1L0O
(C) R 2100
(D) 1600

% 1000 <t g I '3 Y3t 7S 25%
Agge fes '3 fowa &4 2 250 g6

&g fdar AHT ZJar?
(A) 278

(B) 3W®

(C) 1738

(D) 6 HJS

A3 B &g a1 § 20 foat &9 yar
g9 AAE I6, B W3 C BA SH § 10
fest f<g YT 59 AaR I6, W3 C W3
A R 3H & 12 o' <9 99 AaR Jal
A A3 36 feds firg & & a8 Ts,
EUC RIS U SR CERCTI R R ACURICY
3

(A) 8fes
(B) 6fes
(c) 30/7fes
(D) 60/7 fea

[13]



Q40

Q41

Q42

A is 100% more efficient than B. If Q40

B can complete a work in 12 days
working alone, then find the number
of days in which A and B can
together finish the work. - .=

(A) 3 days
(B) 6 days
(C) 4/7 days
(D) 4 days

One year ago, a mother was six

times as old as her daughter.
Presently, the age of the mother is
numerically equal to the square of
the age of her daughter. Find the
daughter's present age (in years).

(A) 5

B) 4
(C) 25
(D) 16

In a group of shepherds and their
sheep, the total number of heads are
35 and that of legs are 120. The total

number of sheep are:

(A) 25
(B) 10
(C) 20
(D) 30

Q41

Q42

A, B 3 100% <09 IAS JI A B e
S IIfent faR s & 12 fea' i< yar
9 Haer J, 3t 8 feat < faredt uzr
S fRe A3 B g 3 dH § yar
Jd AdT I

3 fes

6 fos

(C) wus/7fes

(D) ufes

fia A ufgst, fig 1 & GHg wruet
Y33t & 619 &8 8 Je At o A

(A)

(B)

W S g AftmsHg 39 '3 ATl
Y3t ©F BT © <991 © =5I5T I
U3t € TI3IHE BHI (AT f<9) uzr
a3

(A) 5

(B) &

(C) 25

(D) 16

It w3 Gaat it 33T © AHT
f&g, fAg™ ©F I8 Aftpr 35 I w3 B3
o d& Hfepwr 120 J1 33F T IS At
faat 32

(A) 25
(B) 10
(C) 20
(D) 30

R R R e ]

PAPER-4 SERIES-DA

[14]



Q43 Shyam studies 3% hours daily, out Q43

Q44

Q45

of which he spends 1-51- hour on

studying Mathematics. How much

time does he spend on studying

other subjects?

(A)
(B)
(©)
D)

7

1— hours
10
3

2 — hours
10
1

1— hours
10

3
2 = hours

The average score of Shivani in 5

subjects is 53. Later on, it was found

that scores in one subject were read

as 41 instead of 51. Find the correct

average score of Shivani.

(A)
(B)
(&)
(D)

33
63
55
51

The sum of the digits of a two-digit

number is 8. The difference between

the original number and the number

obtained by reversing the digits is

18. The greater number is:

(A) 26
(B) 62
) 71
(D) 33

Q44

Q45

AH I 3~ W ugrdl sger 3, fan
ﬁ%@amfauqs‘?@ﬁz*w@e*
J1 89 I3 fefimr § uge ‘3 fdor m
Barger 7

(A) 1w
(B) 2@
(€) 1-ue
(D) 23w

s fefimit &9 fiaedl © WA3 wig 53
J& "gmie &g, fog ue § fufenr fa
fan fix fen R9 IB3T &8 51 § 41
yg fonr famm firedt @ At W3 i
fois g7

(A) 53
(B) 63
(C) 55
(D) 51

e widl Aftmr @ wigt T AT 8 I UB
Hfimr @ fegarg wizg 18 I FT
At U3t F3|

(A) 26
(B) 62
(c) n
(D) 53

#
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Q46 What fraction is the shaded region?

Q47

@ @ ™
-l 1/

@A)
®)
© 3
D) =

Ram works 20 hours in a week Q47

(Monday to Friday). Last week he
worked % hours on Monday,

15
3 hours on Tuesday, = hours on

Wednesday, and % hours on

Thursday. How many hours did he

work on Friday?

(A —
B) =
© =
D =

PARER-4 SERIES-DA
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(C)

(D)

gtz ¥39 < ¥ fdat 32

ah 4
- |/

—~
>
N
I Sl

|w

IJH B I23 (AHed 3 Hagea)
&g 20 W2 a1 gaer I s I=3,
gwéaﬂaﬁ?léﬂ?smgﬁ?s
w2 g di3T?



Q48

Q49

A bank offered a unique loan to Q48 ffg S & w3 & 10 A Id &F

Abhay of 10 years, wherein the rate
of interest for the first 2 years is 8%,
that for the next 5 years is 12%, and
that for beyond 7 years is 15%. If
the amount that Abhay paid back to
the bank was Z1,87,850 in total,

then the amount that he received as

loan was:

(A) 95,000
(B) 85,000
(C) 84,560
(D) %93,000

The given figure represents data
obtained from a grouped frequency
distribution giving test scores of
examinees. Estimate the median

score of the distribution.

Test Scores
45 -

40 +
35 4
2 30 4
5 254
g 20 -
L 15 -
10 4
5
0 b 1 T 1 1 L L o
445 545 645 745 845 945 1045
Scores
(A) 745
B) 795
(C) 80.75
(D) 82.25

PAPER-4 SERIES-DA

Q49

>

Frequenc

45
40 4
35 4
30
25 4
20 -
15 4
10
5

fedye 85 & Jman i3, fAAe €9
Ufg® 2 Ast B8 fowd T 8%, Waid
5 A& e 12% W3 BAT g 7 AT
B 15% J| Hied w3 28 59 § TUA
3G A3 e IS IIH 21,87,850
H, 36§ 8a © 39 3 yuz I

JIH H

(A)  ¥95,000

(B) ¥85,000

(C) ¥84L,560

(D) % 93,000

fE3t At wifgSt Yfemrgeigt 2 ifemr
TIA IIt J| I T WeHS3 Higar
WS U3 3|

Test Scores

T T Ll 1 b o

: 2 1
445 545 645 745 845 945 1045

Scores
(A) 7L5
(B) 79.5
(C) 80.75
(D) 82.25



Q50 Each side of a polygon is 2.9 cm in Q50 =g3H & ISF I © = 2.9 cm

length and its perimeter is 17.4 cm. w3 feAer UfgHy 17.4 cm JI SISH
How many sides does the polygon it faSh et I&7?
have? (A) L
(A) 4 B) 6
(B0 (c) 7
€ 7
D) 8 (D) 8
Q51  The given bar graph shows the data Q51 37 fam &9 q[0 UH Ju-3 Jnff
of the expenses by three different T iz &9 36 Su-39 ufged™ A, B
families A, B and C over five W3 C ©WT 3 HIfo & wiag
different weekends. TIrger J|
aFamily-A sFamily-B «Family-C wFamily-A aFamily-B sFamily-C

WEEKEND 1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKEND 5 WEEKEND1 WEEKEND 2 WEEKEND3 WEEKEND4 WEEKEND 5

What is the difference between the

. expense of family C in the 4" 39 903 @ iz o ufgeg ¢ © Hae
weekend and family B in 1% W3 Ufad go3 e vz ko ufgeg B ©
weekend? ygo f&g ot Wizg I?

(A) 450 ‘ (A) 450
(B) 250 (B) 250

« (C) 200 ©) 200

(D) 100
(D) 100

R OB} ——— ]}
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Q52 The given bar graph shows the data Q52 &3 famr g3 Iy0 UA S4¥-2 gofamr

of the expenses by three different e 13 &g 3 du-2dy ufgea A, B
families A, B and C over five W3 C ©WI &3 yafou & waar
different weekends. TIrger J|

#Family-A zFamily-B «Family-C

#Family-A =Family-B = Family-C

(=3

<

D
(=3
Qi
<

=
=
8
s _7

WEEKEND1 WEEKEND2 WEEKEND3 WEEKEND4 WEEKENDS WEEKEND1 WEEKEND 2 WEEKEND3 WEEKEND 4 WEEKEND 5

'

In which of the following weekends foHaBiuz 3 fagx au3 2 wis o
was the percentage of rise/fall in Ufgeg B S yag a8t g9 €9
expensed amount from the previous g/ /ye o 113"'11?337 fug® gofanr <
weekends the maximum for family "3 & Wga3H Al?

B?

q (A) SHIn3 T3
(A) 3" weekend

(B) 2" weekend : (B) TR IDIT NI

(C) 4™ weekend (C) BEINIT I

(D)  1* weekend i
(D) uUfgB INI T W3

PAPER-4 SERIES-DA [19]



Q53 The given figure represents data (53 ﬁé}a@m@z@ﬁnpﬁwém

obtained from a grouped frequency g TIAEE AHIS §9893 @3 §
distribution giving test scores of TIH" 3t J| feg wfgEt § 7e 3 Al
examinees. What is this figure most U 3 fam &H &% Afenr A I7?
precisely known as? Test Scores
45 —
Test Scores e
45 ~ z 30
40 § 25+
3 1 £ 5]
2 30 10
§ 251 5 1
O e L] T ¥ ¥ T e
g 20 ~ 445 545 645 745 845 945 1045
w15 4 Scores
10 -
5 - ; (A) Hoer g9g993" Tad
e T Y T T T . y
445 545 645 745 845 945 1045 (Cumulative frequency curve)

Scores
(B)  Jur H " (Line graph)
(A) Cumulative frequency curve

(C) 3y fg39 (Box Plot)
(B) Line graph

(D) =EdJgg3" =gIA  (Frequency
C Box Plot
© Polygon)

(D)  Frequency Polygon

Q54 When a plot is sold for 18,700, the Q54 #< ffa uge § 18,700 ‘3 =fonr

owner loses 15%. At what' price A 3, 3T HSd § 15% IS gt I
. must that plot be sold in order to 20% 83 Y3 536 Bu GAd feg fan
gain 20%? He €3 29 grdier Hi?
(A) 220,400 (A) % 20,400
(B) 216,400 : (B) 216,400
. (C) 226,400 (C) 226,400
(D) Z28,400 (D) ¥ 28,400

e e e
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Q55 A and B together have % 2,310. Q55 A w3 B fedfon & 22,310 I51 A A

4 2 hd 2
If 15 of A's amount is equal to S of O W e 1S, BEIAW e S ©

g999 J, 37 B IS A& Irdr 972

B's amount, then how much amount

does B have? | (A) Z82L
(A) 2824

(B) 2462 e
(C) T924 k", e
(D) 2624 (D) ek

SECTION - 3 : Mental Ability and 391 - 3 : HaTHE BII3™ w3 339 WarsT

Logical Reasoning

Q56 In this question, three statements Q356. fom yAs &9, s a&gs’ 3 gmE ©
e At | w3 Aftr || iE3 12 IS

have been given followed by two

conclusions numbered I and II.

Assuming that all information in the
statement is true, analyse the two
conclusions together and determine
whether any of them logically and
definitely  follow(s) from the
information given in the statement.
Statement I : All fruits are good.
Statement II : All good is bad.
Statement III : All bad are
vegetables.

Conclusion:

I) All bad are fruits.

1) Some vegetables are good
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows

(D)  Neither I nor II follows

ferdme a9 w3 fsgufas a9 fa o=

Aedrdl T 399 Harz w3 fsrfgs 39

‘I USBE gIer J|

IES | : A 03, gt IS

JES || . AT 99T, g9 J

IS Il - A §9, A I&|

fHe:

) AI g9, 08 IS

) % ASEM, DIt IS

(A) aes fier | uge g9er

(B) 3J=s fier | USe Jae' J

() <T=AC IV I UBE JIT IS

(D) & 3 fier | &7t Il USse JIer
3

e ——————— e —————
PARER-4 SERIES-DA
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Q57 In this question, a statement has (57 fia‘nliao g fiq 986 3 gme e fie

been given followed by two
conclusions numbered 1 and II.
Assuming that all information in the
statements are true, analyse the two
conclusions together and determine
whether any of them logically and
definitely ~ follow(s) from the

information given in the statements.

Statement: All sharks are fish. No

fish is a whale.

Conclusion :

I: No whale is a shark.
IT:  All sharks are whales.
(A) Only I follows

(B)  Only II follows

(C) BothIand II follows

¢ (D) Neither I nor II follows

Q58 Find the missing term in the Q58

following letter series:

LKJ, . DCB,ZYX
' (A) HGF

B) IHG

(C) GHI

(D) GFE

PAPER-4 SERIES-DA

Hftpwr | w3 At 1) iE3 918 I FES
fsgufas a9 fa o< &9 fagz fier
g fSg &3t It Aredadt ©F 394
Haz w3 forfos 39 3 use Jger
S

JEG: AgMit BTIS, Hemit Ia| I8t 2
Hel, G &t Jl

fier .

1. I &G, AT Bt I

Il: A JIe, 2T IS

(A) e fifer | Use daTr

(B) de& fHer Il UBer gavr J
(C) w2 I3 I UBsE JIe IS

(D) & 3 fAer | &9t Il USer gIer
3

I

LKJ, _____,DCB, ZYX
(A) HGF

(B) IHG

(C) GHI

(D) GFE



Q59 Find the missing term in the Q359 It i3t wyg =t T BU3 UT U3™

following letter series: -
be b ¢ be b | be b _ee be b
(A) Cbbe (A)  Cbbc
(B) Bccb (B) Bccb
(C) Bbcc (C) Bbcc
(D) Ccbb (D)  Ccbb
Q60 Sashi and Sakshi are a couple. Q60 wHI w3 mamE g fenrgst Az I
Sakshi's sister Sunita is married to FIH ©F 3T 73T T forg waw
Akash and is the daughter-in-law of &% Jfenr I W3 O 7t & o, I &
Hema, the mother of Sashi. How is &g JI I T A &S S fgA3T I?
Hema related to Sakshi? (A) 3=
(A) Sister | (B) HA
¢ (B) Mother-in-law (C) @
(C) Daughter-in-law (D) T

(D) Daughter
Q61 Study the following arrangement Q61 fE3t Jdt 393" T fimis &% wftmls
carefully and answer the question a3 w3 It &3 yFs T €33 fek:

« given below: PxQ TWIET P QAITY
‘P x Q’ means ‘P is the sister of Q’

‘P - Q’ means ‘P is the mother of Q’
‘P + Q means ‘P is the brother of

P-Q ENWIEIP,QTHI I
P+Q ©WIHIP,QE IITI

Q' ' P:QEwIEI P QT YSI I

‘P + Q” means ‘P is the son of Q’ Iz fefant &7 faAe waa I 's, J &
‘ Which of the following means 'S is st J?

the husband of J*? (A) JxD-A+S

A) JRP-A*S (B) J-D:AxS

B) J-D+AxS

(C) J-D+A+S b
‘') J+DxA+S (D) J=DxAx

(C) J-D+A=S

PAPER-4 SERIES-DA _ s



Q62 A and B start from same point. A Q62 A3 B fix T 3 I5e #g Jo< Ia|

walks 30 m South then turns west A THE €% 30 m 98T J fig UeH <5
and walks 40 m, then turns to his HZ S L0 m Toe I, 1T G wuE v
left and walks 50 m. At the same HIT I W3 50 m I&e J1 OF AX, B
time, B walks 80 m South. Where is THE % 80 m IBT J| A ©f AfgST
B now with respect to the p(;sition Fegs fég B g fag 37

of A?

(A) B, AR UBHTS L0 mJI
(A) B is40 m to the West of A.

(B) Bis 50 m to the East of A. (B) B ATUSIEE 50 m 3|

(C) Bis30 mtothe West of A. () B,ARUSHEB 30 mI|

(D) B is 40 m to the East of A. -
(D) B, AR YIT B 4O m I

Q63 Three different positions of the Q63 J&¢ fFx It uR & fS5 Su-T
same dice are shown below. Which AfESh feurght et Is| Jat i3
of the following statements is IEe &9 fagz ngst 39 ‘3 At 97
necessarily true?

PEPEE

A3

(A) # and @ are on adjacent (A)  # 3 @ S9E 259 Ia|
faces.
(B) % and * are on opposite (B) % w3 » featl 28 I&|
faces. '
~ (C) % and & are on opposite (c) % w3 & feddt 284 I5|
faces.
(D) & and $ are on adjacent (D) &3 $ FIE B Ia|
faces.

PAPER-4 SERIES-DA [24]

%



Q64- If the digits in the number Q64 7AII HftMr '6L9573281 © widh &
'649573281' are arranged in

ascending order, then how many

digits remain in the same place?

(A)
(B)
©)
(D)

One
Two
Three

Four

o gH o feenfazs si3m famr 37
& wig Wy 87 AFs ‘3 Ifgeal?

(A) faq
(B) ©

(c) fIs
(D) TI

Q65 Which of the following answer Q65 It fefwt & faadt €39 riqst,

figure completes the series of the

question figure?

+0AX||X+0A||AX+0O||OAX+ ?
‘ XO A +
(A)
4+ O A X
- (B)
A+ O X
- (©
+AXO
(D)

|3

PAPER-4 SERIES-DA

s WSt € &3t § ydt aaet 97

+0AX||X+0A||AX+0||OAX+ ?

X0 A +
(A)

8 K
(B)

A+OX
(C)

+A X QO
(D)




Q66

Q67

Q68

Which letter will
question mark (?) in the .given

series?

(A) D
(B) E
€ F
D) G

replace the Q66 3t It Bt fifT yis fdg (?) & &F

‘3 fgaz3 wiyg wedr?

pisv]icl? 1

(A) D
(B} "k
(CY<'F
(D) G

Which letter will replace the Q67 23t aret B3t <9 B Lare) fe‘gs (?) S =

question mark (?) in the ‘given

series? C, I, D, P, E, ?

A) U
B) V
© X
D) Y

3 I3 e Wredr?
C,I,D,PE,?

(A) U

(B) V

(C) X

(D) Y

Select the number that can replace Q68 €H Hftmr € 9% J9, ° I 3t B

the question mark (?) in the

following series.

1,4,9, 16, 25, ?

(A) 36
(B) 35
(C) 30
(D) 26

fé&g yrs s (?) & 5 3w AT JI

1, & 9, 1625, 7

(A) 36
(B) 35
(C) 30
(D) 26

ﬁ—'
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Q69  Select the number that will come Q69 €7 Aftpr & I a3, 7 I 3 Bt

next in the following series.

34,18,10,6,4,
A 0
B) 1
) 2
D) 3

Q70 Select the number that can replace Q70

the question mark (?) in

following series.

6, 10, 19, 35, 60, ?

(A) 85
(B) 92
. (C) 96
D) 97

o gt & (__) 3 vt

34,18,10,6, 4,
(A) ©
(B) 1
(C) 2
(D) 3

gg Aftmr g 7 Jot 3 BH Ko
s 9 (7) & 5 8 7|

6, 10, 19,35, 60, ?

(A) 85
(B) 92
(C) - 96
(D) 97

PARER-4 SERIES-DA



Q71 Study the given diagram carefully Q71 &3 @ 3Ifegpy = mrsyged

and answer the question that wWitlas a9 W3 U I UG T €39
follows. feg|
Dancers
Dancers
20
20
11 15 1 15
9 9
8 12 10 8\ 12 10
Married Married

Educated Educated

uz-fsg  fewd 3IWIT  (educated
married dancers) ©F Hftpr fa&t 32

What is the number of educated

married dancers?

®) 9 W9
®) 11 B} W

C ) 12 (c) 12
D) 20 S

Q72 Arrange the following words in a Q72 J&f i3 AuT § o WIEYIS IFIde

meaningful sequence and = then &g feenfas a3 w3 09 Az 3 o<1
choose the most appropriate 333" ge|

" sequence. L Ao sh
l. Preparation for match 5 =3 Y3 I35
2 Receive the trophy " -
3 Toss B

L. fA3T

4. Win

' 5. HIEHT I
5 Compete
(A) 1, 3’ 5, 4,2 (A) 1, 3, 5, LI', 2
B) 3,1,45,2 (B) 3,1,4,52
© 3,1,5,42 ‘ (C) 3,1,54,2

. D) 1,5,2,4,3 (D) 1,5,2, 4,3

#
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Q73  Select the option that can replace the (73 €9 fea®y T& A AES fa?ds (?) <t g
question mark (?) and complete the & Aaer I w3 &3 G339 &3t § yar
given figure series. ' &9 AT Il

OB - | DS
B .2

PAPER-4 SERIES-DA | 2]



Q74 Select the answer figure that can Q74 €9 €33 fg33 g 7 I &3 Ml

replace the question mark (?) in the
series given in the problem figure.
Problem Fig.

|6 |99

A B C D E

Answer Fig.

JALAR IR

1 2 3 4
A 1
B) 2
C) 3
(D) 4

Q75 Select the answer figure that can
. replace the question mark (?) in the
series given in the problem figure.

Problem Fig,.

fg3g <o i3t 331 € yis fids (?) &
g & A
Problem Fig,.

YIFNEXR2R

A B C D E
Answer Fig.

VAR IR

1 2 3 4
(A) 1
(B) 2
(C). -3
(D) &

Q75 €I €39 533 ge = I i3 Al

fo39 o &3t st @ yms fdg (7) <t
g 3 A

Problem Fig.

LAk ICES

A C D E
Answer Fig.

Y |8 | N | A

1 2 3 4
A 1
B) 2
) 3
D) 4

PAPER-4 SERIES-DA

LAk ATYE I

Answer Fig.

WY | A8 | Nt |

1 2 3 4
(A) 1
(B) 2
(c) 3
(D) &



SECTION-4 : Language Skills (Punjabi/ English) / 3791-4 : TS} € g&d (UATsl »iaradwh)
Q76 Read the following sentence and identify the part that has an error.
A lot of people / in my country /prefers / tea to coffee.
(A) Alotof people
(B) in my country
(C) prefers
(D) teato coffee
Q77 Select the most appropriate SYNONYM of the given word.
SIGNIFICANT
(A) energetic
(B) important
(C)  lustful
(D) static
Q78 Given here are six parts of a sentence. S1 and S6 are the first and the last part,

respectively. The rest of the parts, namely a, b, ¢ and d are jumbled. Select the

option that gives their correct order.
« S1: Shakespeare is known as

a. to a black lady

b. and his friend;

c. the bard of avon;

d. his sonnets are addressed

S6: whose source is still unknown to many.

(A) dcab
(B) abced
(C) dbca
" (D) bcad

#
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Q79.  Choose the correct option which can substitute the highlighted words.

Aamir Khan’s movie, ‘Lagaan’, was a true representation of a system of one
country ruling other countries. The film showcased how the English increased

their influence over the Indians over a period of time.
(A) Internationalism
(B) Communism
(C)  Imperialism
(D) Communalism
Q Q80fsTi HEE T Fdt wiarde e ot 37

(A) Personnel
(B) Personal

~ (C)  Personel
(D) Persona

Read the following passage carefully and answer the given questions from Q 81 to

Q85

A3

For four days, I walked through the narrow lanes of the old city, enjoying the
romance of being in a city where history still lives - in its cobblestone streets and its
people riding asses, carrying vine leaves and palm as they once did during the time of
Christ. This is Jerusalem, home to the sacred sites of Christianity, Islam and Judaism. This
is the place that houses the church of the Holy Sepulcher, the place where Jesus was
finally laid to rest. This is also the site of Christ's crucifixion, burial and resurrection.

ﬁ
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Built by the Roman Emperor Constantine at the site of an earlier temple to
Aphrodite, it is the most venerated Cl’lristian shrine in the world. And justifiably so. Here,
witf;in the church, are the last five stations of the cross, the 10th station where Jesus was
stripped of his clothes, the 11th where he was nailed to the cross, the 12th where he died

on the cross, the 13th where the body was removed from the cross, and the 14th, his tomb.

For all this weighty tradition, the approach and entrance to the church is non-devout
Christian pilgrims walking, along the Via-Dolorosa -The Way of Sorrow — the first nine
stations looking clueless. Then a courtyard appears, hemmed in by other buildings and a

way doorway to one side. This leads to a vast area of huge stone architectures.

Immediately inside the entrance is your first stop. It's the stone anointing: this is the
place, according to Greek tradition, where Christ was removed from the cross. The Roman
Catholics, however, believe it to be the spot where Jesus' body was prepared for burial by

Joseph.

What happened next? Jesus was buried. He was taken to a place outside the city of
Jerusalem where other graves existed'and there, he was buried in a cave. However, all that
is long gone, destroyed by continued attacks and rebuilding; what remain is the massive -
and impressive - Rotunda (a round building with a dome) that Emperor Constantine built.
Under this, and right in the centre of the Rotunda, is the structure that contains the Holy

Sepulcher.

AY

At the start of the first century, the place was a disused quarry outside the city

—————M_——_——-—_————_
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walls. According to the gospels, Jesus' crucifixion occurred at a place outside the city
walls with graves nearby...'. Archaeologists have discovered tombs from that era, so the
site is compatible with the biblical period. The structure at the site is a marble tomb built
over the original burial chamber. It has two rooms, and you enter four at a time into the
first of these, the Chapel of the Angel. Here the angel is supposed to have sat on a stone to
recount Christ's resurrection. A low door made of white marble, partly worn away by
pilgrims' hands, leads to a smaller chamber inside. This is the 'room of the tomb', the place
whe;e Jesus was buried. We entered in single file. On my right was a large marble slab

that covered the original rock bench on which the body of Jesus was laid.

Q81 Who built the Holy Sepulcher?
(A)  Julius Caesar ’
(B)  Constantine
(C)  Aphrodite

(D)  Jesus Christ

Q82 According to Roman Catholics who buried Jesus Christ?

(A) Peter
(B) Mathew
(C) Thomas
(D)  Joseph

——_ﬁ
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Q83  Which structure has sustained even after continual attacks?

(A)
(B)
(®)
(D)

Chapel of Angel
Room of Tomb
Rotunda

Dolorosa

Q84 Why did the pilgrims enter in a 'single file' in the 'Room of Tomb'?

(A)
(B)
(©)

(D)

There was a large marble slab
It was the original burial chamber
The room was very small

To pray personally

Q85 Find the word in the passage which means 'rebirth'.

(A)

(B)

. (©

(D)

Crucifixion

Hemmed

Massive

Resurrection

—_ﬁ
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Q86 I fafmit iS5 Fa mee el
(A) Y33
(B) u3<
(c) ufs3
(D) uf33
Q87 dH=idl__ SO Y, HURS § HAHS 3|
(A) T
(B) o=l
(C) 3Id
(D) faudt
Q88 foi @ B9 f3Ag age wa-5a 7'E &% A3 HI'=d g2l
(A)  HIEU &I
(B) f83wg €T HY Hew
(C) OB & AHEE

(D) HIHIE

;————_
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QR9 ‘A ITS Haer IR BE fed HeE TE

(A) WS
(B) oA
(c) feees
(D) g

=

Q90 ‘Mention’ HEE T Adl UAT=l waee ot I7?

(A) B

(B) TIT
(C) TTBUL
(D) =If53

W‘ﬁ?mémw’.@n@q 913 Y 95 Fa B 39 fe€

At e 7Z 3 237 X TI-A3T I &fgat wiE &3 for dH feg g3t AofesT et
3 farst T Hies g% Ay J famr ug fug & was & A9 Y39 fegag €3 © fova & feg
3z 68 &t vz i3 gE Ao 99 Wes € filfgwt Ifowr 2fenr § feder a9 I3t I 3 fem
aH feg Uars At gshr 3 nidt I

28 7Y 3 25t 3 finrSt RS J£F 3, A © e9ae @ feg & wier J1 g7, Had,
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£8, Hig, Hatt wife o S I ysTEn 2RS' Io| Bfgst ® WEE &8 JUY, U8, aHE 3
J9 IR T T8 gRgt T fgew 20 famr J 3 for 28 farrs T Ao 203 fog’ eRw feg
3

Urrst g 93 feg M3 yHa3 d9a A A I, 88 fog wug 243 fiaw a9d &

13 YT 6| foHafEd3 A3at drsivit @ feR §smi T ydieTer Sgemit J6:
< fes we Hige,
Ud AlgE" Hed © &3

Q91 for IS e fAady &t 37

(A) TJHATS T ALS

(B) =g fied
(C) Jagerasdt
(D) JdAg < gI3t

Q92 Umy feg sfgat wie 2 af 9 I57
(A) fIAst T Hies wiur |
(B) Huslier §3UTs
(C) dHadfeg ga=e

(D) oIS TEM OAST & ITHI
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Q93 AT T Wy fa3T ot 37
(A) Jea a3t
(B) g3r-= 4t
(C) w& <At

(D) U a3t

Q94 93 & Urrdt & fedhuesT ot 37
(A)  HSd &8 HIgeT
(B) IIIAGE
(c) =fesge

(D) SRS T HI

Q95 ﬁﬁ@éﬂgiﬁm@mﬁn'@mé@fﬁﬁw@?imé?
(A)  HIm

=

(B) IHH
(C) o=

(D) TUdg
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Q96

Q97

SECTIONS-5 :Digital Literacy and

Awareness

341 - 5 : f3HICs AHI3™ W3 A9IgasT

Which of the following is correct Q96 It fEfam T fagz dfufea &8

regarding text mode interaction with
computer?

L. Cumbersome

1. Time consuming

[II.  Limited in scope of opefation
(A) TandII

(B) IIand III

(C) TandlIIl

(D) I ITandIII

Which of the following is NOT an (97

output device?

©(A)

(B)
(€)
D)

Keyboard
Projector
Monitor

Plotter

PAPER-4 SERIES-DA

29AC N3 fescdans © Ay 9 At
J?

l. ATIAH

. e J&fagfHar

(A)
(B)
(C)
(D)

JIed 2 FIgA 8933 <9
S

I3 1l
IREAl
Rl
Rl

faefen &t 37
(A) =93
(B) Yr&ed
(C) WNalea
(D) uBed
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Q98 In MS Excel 2019, which of the Q98 MS Excel 2019 &g, J& st &9

following keystroke is used to select fogz ot-Aeda ©f =33 fid aaH &9
the cell above in the same column? guad A® $ AdSC d96 BY ISt
el 97
(A) Enter
(A)  Enter
(B) Tab (B) Tab
(C)  Shift + Enter (C)  Shift + Enter
(D)  Shift + Tab \By SR
Q99 You have accidentally deleted a Q99 3/ fezgawt It fig mA@El fier
slide. With which shortcut key of &3t 31 MS PowerPoint 2019 €1 faast
MS Power Point 2019 you can get it Adcde-dl &8 IH feAd Taar yu3
back? 9 AT IJ7?
(A) Ctrl+2Z (A) Ctrl + Z
B) Cul+B (B "o B
(C) At+2Z
. (C) Alt+Z
(D) Alt+B
(D) Alt+B
Q100 scripting is used to create Q100 Afqufdar <t g3 IfestHa
dynamic webpages. : &g UH g go 5t A I
< (A) Web (A) =" (Web)
(B) Dos (B) 37 (Dos)
(C) Cobol (C) dJ=S (Cobol)
(D) VB (D) <t (vB)

f
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Read the following instructions carefully: 35 v gefest § fis 378 ug:
1. Out of the four answer options given for each question, | 4. 99 yre B9 3 a2 9 feamyr &S, @virees & @irg €59

10.

11.

Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can
not be changed.

The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as
these are printed on Test Booklet.

Candidate needs to show his / her Admit Card whenever

it is demanded by the Invigilator.

Candidate is not allowed to leave the seat/ test center
withqut taking special permission from Invigilator or

Center Superintendent.

The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over
OMR Answer Sheet to the Invigilator.

Use of Pencil/Electronic/Manual Calculator is prohibited.

The \ candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

The Candidates are required to submit t}\e Test

Booklet to the Invigilator after the exam.

%

Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

Hie 3 a8 g8 ynifie U &5 3w i feasy § €39 & a8"
g5 J| fig T3 fipz 3 I €39 § sefonr adt 7 Fewr

SieTe § fog weid sele wrdter 3 & €33 Hie vt &7 IR
@iees § 939 Hic 3 feug-Gug 30 & fors adi BAGE
g fees § §rhnrg €39 Fie 9 fseues A9 3
fome Ig a3 & wuer I8 &59 &t v grdier]
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foarars Evrgr Hal e 3 e § wiuE el 98 fedgE
|

faargs o d29 © pudae 3 fenm witmr 32 fao, gt &
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